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 9��  ������)-�"I (�
 ?���A ���UA .  

3. ����	 ����� ���� :-�C��,    ��}���� /�}4(�� �$= +� ��3 �4("
 ^��(� G �'� �� 
5 �
 9�� ���) -�"}I (

�
 Z��3 -�C��, � �$3 ��%� ��� -�C��, � �	��", �� ^��(� +� �	����  �� � ��"�� /�4(�� 9�,�Y ���4(
 T���	 �

�
 g�S
 ������ /�4(�� �3�� .  �}I�  ^��(� �	��%�� � ~O  	$*"
 
� ��M, -�MC�
 -����
 �
5 �
 9�� 	�


��
�= +� B���� �	�U� J40
 m$4  � ��3 9�� � �5
 iS= 	� 	��$� � �
 :%
 	��1� �55KC� �3��[11]. 



 

 

 �� 3 ����	 �����!�"�#$ ����%	�����	 ��&[11]  

  

4. ���� �!�� ���
� � "��#$ ���� ����5� 

���
+�= :%
 ���� �� +� 
�=$� � J�40� ����
 �+��
� �>�1=N
 �  
}� -=� ?�"��,�	�� � �(�"I ��� ?�
+�=

 ��(=�	 	� � :5< ��"�
�� -=� B+D �������""� -��  
(,���A f��"I � ��'()� 
�=$� .  J}�40� �?�''2(
 ���4< 
�

 �&��@A       ��}4�	� �/�R(}3� &���},� ��M�F$}C$"M� �+�}=$� � �+�=+�� ���� �	����A � ��	$�� 
���7 
K� 
�=$� �(1�

        K}3 
}� :}%
 �}
�$< 
}5K7 +� �F$}C$"M� ?��}� �	�}�� a$#	�# 9�� 	� � -=� -
[= � T�0
 � ����+ -�O�� 	�

�
 ��	[12].       G�}'� �}%�� �}��$< � �}���� 	��4(}=� �}K< 
}I�< 	� 
� �
��"� �� 
�=$� � J�40� ^��(�    ����}�� 
}�
�7

�K�  ���$��3�� >��; � �
$K< ��,	 e��"
 .&��� -3���� +� ����$57 ����  +� ���O(}=� �� �(��)	 T�0
 	� f��"I e�4� � 

�F$C$"M� )	 -��K����	�M� � ���� � 9�$� ���  �}1�	 6��U}A ?�M
� � ���1�� ��C�
 f��"
 �*� +� f��"I �(���    
}� +�}��

�	��� �"���O(.�"3 �
 �+�= �3�� .&�A ���	���+�= 
"�
+ 	� �	��� ��3 �"��   
�}=$� :�"A � B	�%# 

���� 	� �+�=

B�� -��K  �����%� ��M�� � 9���$) G�$'� -%7 +� ��;$
 ���    -}=� ��}3 
(}3���� ��""�[13]. =N
   &}��� >�}1

9, �+�= �	��� 	$*"
 
� ?��"�  -}=� ��3 ����� 	$�� f��"I �(��)	 ?�$� &���,� � �
��	��$� >�4�40� � �	�� .  k�}�

 
� -=� 9�� ?��"� &��� >�1=N
       �}� � ��$}K� �}��K(
 G}=�"
 ���}M
 	� �	 �}� ������� ���<[Y� � ����@A �P���$�

&��� �?���(=� �	�MK� � ?�� �I � ?��(.$
�    �F$}C$"M� �t	�}. � �}.�� f��"I ?������@A � ?�''2(
 �$� ��� ���

    �}"��K� >�<�}1
 � �}K� 	$}�� �	��", �P��$A � �(�"I 
�=$� 
� J��Y 9�� +� � ��$K� Z���� �	 ����[14].  >�}1=$


 �� ?��"� &���&��@A B���� 
�=$� � ����	�� ����� �   �	��}�
 � �}''2� >�
�. 
P�	� ��  
}5K7 +�  >�
�}. ��}K5<  

�", � ���4�40� -�C��, �����7 �$�%� 
� &��� ���     �}
 �}K� �}��R
 	��, +� ����$57 � �5.�� ?���2� aU7 � 	$0


�""� . �� >�1=$
 9��9�$� �	��E", �� >D$'0
 ��C$�     
}��(� 	� � ���}����� -�"}I 9�� �Y���	� 
45  ����� 
� ��"


� ���O(=� -%7 +��� �	$
 ?�
+ &��� � ��%1�  �}
 �A$� f��"I � �� -��3 ���� �@�� 
� �� &��@A � >�4�40� ^��(� +

���� .�� 9�"!K�

����   g�}Y ���}7� � ���	       
}4S"
 ��}5
 g$S}= 	� �"��,�	�}� 
�}=$� ��}�  }�50
 � �� $  H�2}��

-I�, �"��,�	�� ��� $�%�� ?��� ���%7 � �5KC� 9�� 	�+�� 
� ��	�� � G1� ��	� >�
�. B����   �R}3 ��}���%�   l�}I$'.

���� ���� �"� �
 �K� 	$�� ���� ��'0� � ����� ��� . �� ?��"� &��� >�1=$
���7 /$'0
 
�=$� >�
�. 
��	� 

 �E", 
�=$��	�� 	�+�� � >D$'0
 J5. J��Y +� �5
 HC�.�� ��C$� &���,� 
� ���� �
 ��"
 ���7 ���[15].  
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M�3 
�=$� � ?��"� &��� >�4�40� +� -��K  �����@A ����
� �� ��%� 
�=$� �&��@A 
� �	 � n"��, -�$4� �+$ 

-=� ��3 
P�	� ��+ g�3 
� &��@A ���:  

 /��71
�=$� � J�40� �+$  ���	�M��	 

*�+&��  �&���&��  

 ����	 ���,� , -.&�$ !�/�	

 �0 1�234� ��,�.$ �#�/	 ,

 , 5����� 6/�� �� !
���

5��78&,9:  
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 �����%� -�$4� � �����

?������@A � ?�440
 +� -��K  
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 � ?�440
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 � ?�440
 m$4  +� -���I B�*� ����� � 9���$) fL� � $�C� 9����

>�<[Y� �	��", �+$  	� ?������@A 
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 ��", ��	���
 ���� �� ��	��", � J�40� >�1=$
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 �	��", ��� �	��$� � 6��, � ����	�+�� �-.�= �=�"%
 � � ��Y

<[Y�>� 

 � �I$'. ����@A �����%� -�	��
 �� �	��$� � &��@A ����
 y�=��

�%�� +� -��K  	� >�<[Y� �	��", �+$  	� ������ 

 �+$  	� �3	 ����
 � �	��", � �K5< ��%�	�A � �� b�%3 -�$4� � �����

>�<[Y� �	��", 

	$0
 &��� �#$� ��%���"� ������ ���� B+D ��� m$�
 � ������ ����� 

 �� !��A� , D�E�	 > ��/8	

 F�/� �* �/���G��	 1�����	

1�234� ��,�.$ 

  

 �	��", �+$  	� &��@A � >�4�40� ^��(� �+�= �	��� +� -��K 

>�<[Y� 

�%(�C��, ���0� ���� �L�4� ���� �M3 ��� 
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+ ?�	�� :���, J�40� �
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 �� �;$
 T���	 
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�55KC� 9�� � 
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 �1�	 -����
 � �	��$� -����
��"��,�	�� n"��, �+�= ����A� -�$4�
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 >�<[Y� �	��", �	��$� +� Z[Y� G1� � �K(1
 &��A � �=	�� �
�C�S
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 �	��", � :5< b	�A �j���� J�Y� 
� -=� ���
+�= 
    k�}� � �$}3 �}
 -����
 �� 
,�  9�''2(
 
5�=�

       � b	�}A 	� �}L�  ��}� -��}3 ?�}�
 ���+�}= -��)	 � �	��$� n"��, e�4�	� J��Y +� 
�
�7 >��; &���,� ?� �5I�


N-=� &��� � :5< �� �M(
 ��� 
1= .    k�}� 9}�� 
}� ����(}=� ���� � b	�}A �     ?�}�
 	� �	 �	��}", � &}��� ?�}��7


N����@A � �C�< 6+$
� >�1= ,  ��}� -��3 �3	 �$. -����
 �� � 
(.���� -��  
� 	�+�� � �I$'. ��� -��3

 �3	 ����
 J��Y +� �	 �	��$� �� �M(
4 ����+ ����"���, �5   }"� �}
 ��%}1��6.[16]   k�}� +�    � :}5< b	�}A ��}���

�	��", � ��� b	�A �� ����4�407  ���$� �
      	$}0
 &}��� ��}'()� 
�}=$� J}��Y +� 
}�
�7 	� >��; &���,� 
� �K� >

� >�4�40� ^��(� �+�= �	��� 
�
�7 ���
�. � ���C$� � ���4�40� ��� &2� _���	� J40� >   � -}��)	 >	�}) &���,�

-��3 �3	 &��� �� �M(
 ��� >     }5.�� � �}55KC� 9�}� ��}� 
��
�}= � �", &��� aU7 
� �K�� >   � 	$}Q  &���},�

�55KC� 9�� iS= 	� �5.�� �	��", ��� -��3 �''2� -�	��
 > 
�}=$� � �����+� -��K       � �}#$� ��}� -��}3


 +� -��K  � �	��", T=$(
N	��$� �=�"%
 � ���4�40� ��� -��3 � �� 
1=�   �"��,�	�}� � �	��}", 
�=$� k�� �� 

�3��[17].b	�A �(=�. ?�$"< 
� �	��", � :5< ���  �@}�� ��}���7 �?��"� &��� >�1=$
 ��     	$}�� �}K5< 
�}=$� 	� ��

��	��.-��3 y�=�� g�Y  ��(�����"� &��� >�1=N
 � ���� b	�A	� T4,�	��", � :5< �    g�}S
 b�}�� ��%(��K  �� �

                                                   
4Incubator 
5Spinoff 

6- 
�"=�=� � y�=x� 

�� 9�P� ��=� ���	��", � :5< ��� b	�A 
.  

7- ���4�40� b	�A : � ���K(
 ���4�40� ��%���	�� ��%������
+� ����"� ��+ >�1�=x� �9�
+ 
P�	� � ?�	�� :���, J��Y +� 
� �$3 �
 m[Y��� 
<$K�
 
�

 �
 :���, ���K(
 ��Q, �� 	� �	 ���4�40� >�1=N
� �%(��3 ���� �� Z�K(7� >��7$
 ��$��) >[�%1����K� . >	���
	� D$K�
 
� �� 
<$K�
 9��


 ?� ^��(� �+�= �	��� � ����	�� >�4�40� B���� -%7 G=�"K��Q, ����� 9KL ���� �
 �M3 ���'()� � �(�"I ��%�S) �� � �������� ��%�S) >��7$

�� 
"��� &��� ��� � ��� �� 9�� �M���, >	���
 +� �3�� ����,� :� 	U��	+� �	 >�4�40� �3	��+�= �
 :���, �	�7 ��� 
"��� � 
�C�� �	�U�%��
�= �. 

��$3 �
 :�14� ��+ 
(=� ��%�(�C��, Z$� �*� +� ���4�40� ��%�	�A :�K5< b	�A Science push   
� 	� G=�"
 ��Q, �� 	� �%������� T=$� D$K�


� 	� �4(1
 f��"I ?�� �I 9�� �5��4(
 �	�MK� � �$��
 ����� ������� >	���
������ � �%�	�A ? ���Ĥ�
 �$7� 
� ��� � 

�	��", b	�A Technology park  
�lD$K�
  �� 
4S"
 	� �$7$
 f��"I ���4�40� >�Y���	� 6�(1� -���� � ��$3 �
 ����� �(�"I ��%�S) >	���
 	�

����� �
 �M3 
4S"
 ��%�������� ���4�40� ���� ��. 



 

          �%(��}3 9}�� y�}=�� >�}<��(.� � �%�	��$"�+�}= �	�}�� � ?�}�"� &}��� >�}1=N
 � �%(��3 +� -��K  
0�D�
� �$�

� � ��� �
 T1� �	 �%(��K ?�$� �
 
M�	$Y 
�  y�=�� �	 �%(��3 9�� ���7 �� 	�����   � �%���}���� 	�I$'2�  9}��

 {<�� Z$L$
 -�"I � ������� 9�� ��)�� _���	��
 ����.6�	 9(,����, �+��
�       ���}� �F$}C$"M� ?��}� �	�}�� ��}�

P�  	��1� >�1=N
 � ���4�40� ����
 ?�"��,�	�� � ?�	��$�      � 
�}=$� �}� �}��� J}�40� -}�4,$
 
� ��# �-=� -�K�� �

�3�� ���K� ?� ?�3 �	����    �}�� g�}3 
� ���� 	$�� �"# 	� �F$C$"M� � &��� �+�= �	��� ����
 J,$
 ��� 
�$K�

�
 �3��[18]: 

• %0/.O F�=:��� �F$C$"M� �����A -��38 /�= 	�1974 �F$C$"M� ?��� �	��� ����    � J}�40� +� �}I�  ���

��3 ����� �
�=$ .�-��3 9�� ?�	��
�%=7        ��}� �F$}C$"M� � B$}5< >	�+� 
}� 
(}1��� ���}4�40� �	�� 
1=N


�"(1� .    ?��}� �	�}�� 	� �}�� �%�� 
� ��	�� �$7� 
� �	 ����� �	�K)� ��� -��3 ��$. 
�$� 
� ��� -��3 9��

�C�
 f��"
 +� �K�*< :�  � ��	�� -�C��, ��� �=��= 	� >�4�40� ^��(� ��� ��	�� ��� �$. 	� �	. 

• C:�P : 	$��     �}� �
�}=$� � J}�40� +� �}I�  ��� �F$C$"M� ?��� �	��� ���� �5K< B��)� �� ?�$"< 
� 9A�F

 B�� �� �	 
�=$� � J�40� -��3)(JRDC9/�= 	�1961 ��� ����. JRDC  �	��� J,$
 	��1� ��� 
�$K� +� �M�

  	� � -=� 
�=$� � J�40� ����	��(=� �+�=     ��}��� �}� ��}(C�� >�	�}�(<� � f��"
 
� ��(1��� ?��� �L�  /�

     
}� 9}A�F ���}'()� � �(�"}I 
�=$� ��1
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� -=� ��	�� ��� �	 �K�*< 
��
�= ����(
 �	�K)� ��� -��3

�$3 �
 
(,�� 	��.  

• �A"K5 :     -��}3 � ��}�C$� ����} �� -�	�}�
 �}� l�Q�� � �I$'. &2� T=$� ?�KC� 	� �� 
S=�� ����
  }� ��

��� ��3 ����� �� �	���
 >�
�. .       f},	 �	 �}%�� >�
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S=�� &4� l�
�K� �����
 9��

      � 	�+�}� -.�"}3 �
�}=$� � J}�40� +� �}I�  ��� �F$C$"M� /�4(�� � �	��$� ��3+$
� ��(����
 ��", >[M�


��� �
 ��M�� �>�	��I 
�=$� .4S"
 	� �$7$
 �(�"I ���� �� �
�K� ����7 ���� �� ��� � ?��L�4(
 � 


     ��F$}C$"M� � ���}�	�+�� ��}''2� ��}", ��� 
"�
+ 	� -�$Q< J  -.���A � ���
 9�� 
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�7��
 �� �"��$� �


�""� -,��	� >�
�.[19].  

• F;��� 1R��� : �F$C$"M� �+�= �	��� -��3)TCC(10 :  �=�"%
 ^C�� 
� 
(1��� -��3 9�� »$����� ������� «

-=�M��
� �$����� -C��� 	� .   �F$}C$"M� /�}4(�� � Z��(.� -�; � ��
 �� �� ���� ���� �M3 
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 +� -��3 9��
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�}= 
}� B��})� �$}. :� �-��3 9��
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